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Assignment No (1)

\

Stability and instability

@B] 1. Classify each of the structures as statically determinate, statically
B] indeterminate, or unstable. If indeterminate, specify the degree of [9
X indeterminacy. The supports or connections are to be assumed as stated. &
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B] 2

X 2. For the statically determinate beam loaded with both distributed and
B] concentrated loads shown below.

X i. Calculate the reactions of the beam

B] ii. Solve and draw the internal force diagrams (AFD, SFD & BMD)
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EJ 3. Draw the Axial force; shear force and bending moment diagrams for
B] each member of the frame shown below. Assume the frame is pin :

X connected at A, and C 1s a roller. oS
1

|
3
O

10K

=

S

3
=

N
=
==

EERERRREER

X 2
% th "-'A.z - 28 —toz0 = [ = 58 KN

Y
e satun s vent o g e
) 8 = 5745n i
2
Uzpy=tyo 540 50020 5 4,= 78 240
d |
X &
d 0
< %%
d 0
X &
( b
X &

D mrahmedmahdy.com 00201024041097 - 00201096019763



— i — e — i i O T i O i

O

O O O O

)

O

O

A4

4o
oy
5:;4;
L
Zd’//;\
.
=
>y

= mrahmedmahdy.com 00201024041097 - 00201096019763

e O e O T - T e O

e O

%

e O

e O

v
2N



HRARHEDADY

o I® -68
e -5.341 =
f | 3

S
396

40

o=
39,6

y  ASD 5. £

|

=)
oi 40g

€2 -408 r

é £.#.D

D mrahmedmahdy.com 00201024041097 - 00201096019763

EEXA DS

)

&
)
J
Q&
)

J
o
)
J
&
1




B] 4. The roof truss as shown below

B] i. Determine the force in each member by the method of joints, State
X whether the members are in tension or compression.

@ ii. Check the force in members BC, BE and FC by the method of
)% section.
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